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B.Com. DEGREE EXAMINATION, APRIL 2021 &

Supplementary/Improvement/Arrear Examinations 

Third Semester 

Commerce 

ADVANCED ACCOUNTANCY — III 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is meant by Partners Capital Accounts? 

 TmhõÎPÒ ‰»uÚ PnUS GßÓõÀ GßÚ? 

2. What is Current account? 

 |h¨¦ PnUS GßÓõÀ GßÚ? 

3. What is meant by Goodwill? 

 |Øö£¯º GßÓõÀ GßÚ? 

4. What is meant by revaluation Accounts? 

 ©Ö ©v¨¥k PnUS GßÓõÀ GßÚ? 

5. What is meant by Gaining Ratio? 

 Buõ¯ ÂQu® GßÓõÀ GßÚ? 
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6. What is JLP? 

 JLP GßÓõÀ GßÚ? 

7. What is realization account? 

 wºÄ PnUS GßÓõÀ GßÚ? 

8. What are the accounts prepared at the time of 
dissolution? 

 {ÖÁÚ® Pø»²®ö£õÊx GßöÚßÚ PnUSPÒ 

u¯õ›UP¨£kQÓx? 

9. What is meant by conversion of firm in to a company? 

 Tmk {ÖÁÚ® P®ö£Û¯õP ©õØÓ¨£kuÀ GßÓõÀ GßÚ? 

10. What is meant by maximum loss method? 

 AvP |mh•øÓ GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) What do you mean by Profit and Loss appropriation 
account? 

  C»õ£ |mh £QºÄ PnUS £ØÔ }Âº AÔÁx GßÚ? 

Or 

 (b) A and B are partners sharing profits and losses in 
the ratio of 3 : 2. They admit C for 1/5th share in the 
profit. Calculate the new profit sharing ratio. 

  A ©ØÖ® B TmhõÎPÒ u[PÍx C»õ£zøu 3 : 2 

GßÓ ÂQuzvÀ £Qº¢x öPõÒQÓõºPÒ. C Gß£Áº 

1/5 £[S »õ£zvØS ÷\ºzxU öPõÒQÓõºPÒ. 

AÁºPÐøh¯ ¦v¯ C»õ£ ÂQuzøu PnUQkP. 
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12. (a) Enumerate the adjustments to be made before 
admitting a new partner in the firm. 

  J¸ ¦v¯ TmhõÎø¯ J¸ {ÖÁÚzvÀ ÷\ºUS®÷£õx 

¤ß£ØÓ ÷Ási¯ \›PmkuÀPøÍ ÂÍUSP. 

Or 

 (b) Kalavathi and Malathi are partners sharing profits 
in the ratio of 4 : 3. Leelavathi is admitted for 1/3rd  
share of profits. Goodwill of the firm is to be valued 
at 2 years purchase of 3 year’s profits which have 
been Rs. 44,000, Rs. 56,000, Rs. 68,000. Give 
Journal entries if  

  (i) There is no goodwill in the books of the firm 

  (ii) The goodwill account appears at Rs. 28,000 

  (iii) The goodwill already existing in the books of 
Rs. 1,68,000. 

  P»õÁv, ©õ»v GßÓ TmhõÎPÒ •øÓ÷¯ 4 : 3 GÝ® 
ÂQuzvÀ C»õ£® £Qº¢x Á¢uÚº. ½»õÁv 
Gß£Áøμ 1/3 TmkUSa ÷\ºzxU öPõshÚº. 
|Øö£¯º ‰ßÖ BskPÎß \μõ\› C»õ£zvÀ 
Cμsk Bsk öPõÒ•uÀ GÚUöPõsk 
©v¨¤h¨£mhx. ‰ßÖ BskPÎß C»õ£[PÒ 
•øÓ÷¯ ¹. 44,000 ¹. 56,000, ¹. 68,000 BS®. 

  RÌUPõq® u¸n[PÎß SÔ¨÷£mk¨ £vÄPøÍz 
u¸P. 

  (i) |Øö£¯º CxÁøμ HkPÎÀ CÀ»õ©¼¸¢uõÀ  

  (ii) HkPÎÀ |Øö£¯›ß ©v¨¦ ¹. 28,000 GÚU 

Põmh¨£mi¸¢uõÀ 

  (iii) HkPÎÀ |Øö£¯›ß ©v¨¦ ¹. 1,68,000 GÚU 

Põmh¨£mi¸¢uõÀ 



A–9965 

  

  4

13. (a) (i) Distinction between sacrificing ratio and 
gaining ratio – Explain. 

  (ii) Distinguish between Revaluations Account 
and Realisation Account – Explain. 

  (i) v¯õP ÂQuzvØS® ©ØÖ® Buõ¯ ÂQuzvØS® 

Cøh÷¯¯õÚ ÷ÁØÖø©PøÍ ÂÍUSP. 

  (ii) ©Ö©v¨¥mkU PnUS ©ØÖ® wºÄU PnUS 

CμsiØS® Cøh÷¯¯õÚ ÷ÁØÖø©PøÍ 

ÂÍUSP. 

Or 

 (b) A, B, C were partners sharing profits and losses in 
the ratio of 3 : 2 : 1 respectively. B died on 31st 
march 2003. The profits from 1.1.2003 to 31.3.2003 
amounted to 4,500. A and B decided to share the 
future profits in the ratio of 3 : 2 respectively            
with effect from 1.4.2003. Give the necessary 
journal entries to record the B’s share of profit to 
the date of death. 

  A, B, C BQ¯  TmhõÎPÒ •øÓ÷¯ 3 : 2 : 1 GßÓ 

ÂQuzvÀ C»õ£ & |mh[PøÍ £Qº¢uÚº. 31 ©õºa 

2003À B CÓ¢uõº. 1.1.2003 •uÀ 31.3.2003 

Áøμ°»õÚ C»õ£® ¹. 4,500 BS®. 1.4.2003 •uÀ  

A ©ØÖ® B BQ¯ TmhõÎPÎß GvºPõ» C»õ£® 

•øÓ÷¯ 3 : 2 GßÓ ÂQuzvÀ C¸US©õÖ •iÄ 

ö\´uÚº. TmhõÎ ‘B’ CÓ¢u |õÎÀ AÁ¸UPõÚ 

C»õ£ £[øP SÔ¨÷£k u¯õ›zx £vP. 

14. (a) Explain the provisions of settlement of accounts of 
partners in case of dissolution. 

  {ÖÁÚ® Pø»UP¨£k® ö£õÊx PnUøP •iÄ 

ö\´²® ö£õÊx Põq® \μzxUPøÍ ÂÁ›UPÄ®. 

Or 
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 (b) A, B and C commenced business on 1.1.2011 with 
capitals of Rs. 2,00,000, Rs. 1,60,000 and  
Rs. 1,20,000 respectively. Profit and losses were 
shared in the ratio of 4 : 3 : 3. Capital carried 
interest at 5% p.a. During 2011 and 2012, they 
made profits of Rs. 80,000 and Rs. 1,00,000  
(before allowing interest on capitals). Drawing of 
each partner were Rs. 20,000 per year. On  
31.12.2012, they firm was dissolved creditors on 
that date were Rs. 48,000. The assets realised  
Rs. 5,20,000 (Net). 

  Prepare Realisation account. 

  1.1.2011 AßÖ A, B ©ØÖ® C •øÓ÷¯ ¹. 2,00,000, 

¹. 1,60,000  ©ØÖ® ¹. 1,20,000 •u½k ö\´¯ 

Â¯õ£õμ® xÁ[QÚº. C»õ£ |mhzøu 4 : 3 : 3 GßÓ 

ÂQuzvÀ £Qº¢x  öPõshÚº. •uÀ «x Ámi 

BsiØS 5% BS®. 2011 ©ØÖ® 2012 BskPÎÀ 

AÁºPÒ •uÀ «x ÁmiUS •¢øu¯ C»õ£®  

¹. 80,000 ©ØÖ® ¹. 1,00,000 DmiÚº. JÆöÁõ¸ 

TmhõÎ°ß Gk¨¦ BsiØS ¹. 20,000 BS®. 

31.12.2012 AßÖ {ÖÁÚ® Pø»UP¨£mhx. AßøÓ¯ 

÷uv°À PhÜ¢÷uõºPÒ ©v¨¦ ¹. 48,000 ö\õzxUPÒ 

¹. 5,20,000 ({Pμ)US ÂØ£øÚ ö\´¯¨£mhx. wºÄU 

PnUøP u¯õº ö\´P. 

15. (a) Explain the procedure for selling the business of a 
partnership to a limited company. 

  J¸ Tmhõsø©z öuõÈø» J¸ Áøμ¯Ö {Ö©zvØS 

ÂØ£øÚ ö\´²®÷£õx ¤ß£ØÓ ÷Ási¯ •øÓPøÍ 

ÂÍUSP. 

Or 
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 (b) Kamala, Vimala and Gokila were sharing profits 
and losses in the ratio of 3 : 2 : 1 respectively as 
partners. They decided to dissolve the firm on 30th 
June 2008. The Balance Sheet on that date were as 
under : 

Liabilities  Rs. Assets  Rs. 

Capital   Fixed assets  60,000

Kamala  25,000 Current assets  40,000

Vimala  25,000  

Gokila  15,000  

Creditors  35,000  

 1,00,000  1,00,000

  All the assets were realised Rs. 85,000, that amount 
realised in first instalment Rs. 35,000, in second 
instalment Rs. 25,000 and in third instalment  
Rs. 25,000. 

  Show the statement showing distribution of cash 
under proportionate capital method. 

  P©»õ, Â©»õ ©ØÖ® ÷PõQ»õ BQ¯ TmhõÎPÒ  

3 : 2 : 1 GßÓ ÂQuzvÀ »õ£ |mh[PøÍ £Qº¢x 

öPõÒQÓõºPÒ. áüß 30 2008À AÁºPÒ {ÖÁÚzøu 

Pø»¨£uØS •iÄ ö\´uÚº. A÷u |õÍßÖ EÒÍ 

C¸¨¦ {ø»U SÔ¨¦ R÷Ç öPõkUP¨£mkÒÍx. 

ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ  ¹. 

•uÀ  {ø»¯õÚ ö\õzxUPÒ 60,000
P©»õ  25,000 |h¨¦a ö\õzxUPÒ 40,000
Â©»õ 25,000  
÷PõQ»õ 15,000  
PhÜ¢÷uõº 35,000  

 1,00,000  1,00,000
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  AøÚzx ö\õzxUPÎß ÂØ£øÚ¯õÀ QøhUP¨ ö£ØÓ 

öuõøP ¹. 85,000 BS®. •uÀ uÁøn°À  

¹. 35,000•® CμshõÁx uÁøn°À ¹. 25,000. 

öμõUP £[RmiøÚ Põs¤US® £mi¯ø» ÂQuõa\õμ 

‰»uÚ©õUP £[Rmk •øÓ°À u¯õ›UP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Praveen and Ravi enter into a partnership on 1st January 
2009 contributing Rs. 30,000 and Rs. 20,000 respectively 
as capital. They agree to share profit in the ratio of 2 : 1. 
Praveen is to be allowed a salary of Rs. 3,600 and Ravi 
Rs. 2,400 per year. 6% interest is payable on capital. 
Interest on drawings is 6% p.a. During the year Praveen 
withdraws Rs. 4000 and Ravi Rs. 3,000. Profit in 2009 
before making adjustments for the above items is  
Rs. 14,790. Show how the profit will be distributed. Also 
show the capital accounts of partners under fluctuating 
capital method. 

 1 áÚÁ› 2009 AßÖ ¤μÃß ©ØÖ® μÂ •øÓ÷¯ ¹. 30,000 

©ØÖ® ¹. 20,000I •u»õP ö\¾zv Tmhõsø©°À 

J¨£¢u® ö\´uÚº. AÁºPÒ C»õ£zøu 2 : 1 GßÓ 

ÂQuzvÀ £Qº¢x öPõÒÍ J¨¦U öPõshÚº. J¸ 

BsiØS Fv¯©õP ¤μÃÝUS ¹. 3,600® μÂUS ¹. 2,400 

ÁÇ[P¨£h÷Ásk®. 6%  •uÀ ÷©À Ámi¯õP ö\¾zu¨ 

£h÷Ásk®. Gk¨¦PÎß «uõÚ Ámi Á¸hzvØS 6% 

BS®. A¢u BsiÀ ¤μÃß  

¹. 4,000&zøu²®, μÂ ¹. 3,000zøu²® Gk¨¦ ö\´uÚº. 

÷©ØTÔ¯ CÚ[PøÍ \›Pmk® •ß 2009® Bsiß 

C»õ£® ¹. 14,709 BP C¸¢ux.  C»õ£® GÆÁõÖ 

£Qº¢uÎUP¨£k® Gß£øu PõmkP. ÷©¾® ©õÖ® •uÀ 

•øÓ°ß RÌ TmhõÎPÎß •uÀ PnUøP PõmkP. 
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17. The following is the Balance sheet of A and B as on 31st 

March 2013. C is admitted as a partner on that date : 

Liabilities  Rs. Assets  Rs. 

Capital A 10,000 Debtors  11,000

Capital B 8,000 Building  8,000

Creditors  12,000 Machinery  10,000

General reserve  16,000 Stock  12,000

Workmen Compensation fund 4,000 Cash at bank 9,000

 50,000  50,000

 A and B shared profits in the ratio of 3 : 2. The following 

terms of admission are agreed upon: 

 (a) Revaluation of assets: Building Rs. 18,000, Stock 

Rs. 16,000. 

 (b) The liability on workmen compensation fund is 

determined at Rs. 2,000 

 (c) C brought in as his share of goodwill Rs. 10,000 his 

cash 

 (d) C was to bring further cash as would made his 

capital equal to 20% of the combined capitals of 

partners A and B (after adjustments are carried 

out). 

 (e) The future profit sharing ratio was A 2 : 2 : 1. 

  Prepare Revaluation account, partners capital 

account and the new balance sheet of the firm. 
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 31.3.2013À EÒÍ A ©ØÖ® B BQ¯ TmhõÎPÎß C¸¨¦ 

{ø»USÔ¨¦ R÷Ç öPõkUP¨£mkÒÍx. A÷u |õÎÀ 

AÁºPÒ C GßÓ TmhõÎ°øÚ ÷\ºzxU öPõshÚº. 

ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ  ¹. 

•uÀ A 10,000 PhÚõÎPÒ 11,000

           B 8,000 Pmih® 8,000

PhÜ¢÷uõº 12,000 C¯¢vμ® 10,000

ö£õxPõ¨¦ 16,000 \μUQ¸¨¦ 12,000

öuõÈ»õÍº CÇ¨¥mk {v 4,000 Á[Q öμõUP® 9,000

 50,000  50,000

 A ©ØÖ® B GßÓ TmhõÎPÒ C»õ£zvøÚ 3 : 2 GßÓ 
ÂQuzvÀ £Qº¢x öPõÒQßÓÚº. TmhõÎPÒ 
÷\ºUP¨£k®ö£õÊx, RÌUPsh {£¢uøÚPÒ |h¨¦U 
öPõÒÍ¨£mhÚ. 

 (A) ö\õzxUPÎß ©Ö©v¨¥k Pmih® ¹. 18,000 \μUS  
¹. 16,000 

 (B) öuõÈ»õÍºPÒ CÇ¨¥k {vUPõÚ ö£õÖ¨¦PÒ  
¹. 2,000 GÚ {ºn°UP¨£kQÓx 

 (C) C |Øö£¯›ß £[PõP ¹. 10,000I öμõUP©õP öPõsk 
Á¢uõº. 

 (D) (\›Pmh¾US¨ ¤ß EÒÍ) A ©ØÖ® B ß Tmk 
•u¼À 20% US \©©õÚ •uø» C öμõUP©õP 
öPõsk Áμ ÷Ásk®. 

 (E) A AÁºPÐøh¯ GvºPõ» C»õ£ £QºÄ ÂQu® 2 : 2 : 
1. 

  ©Ö ©v¨¥mk PnUS, TmhõÎPÒ •uÀ PnUSPÒ 

©ØÖ® TmhõÎPÎß ¦v¯ C¸¨¦ {ø»USÔ¨¦ u¯õº 

ö\´P. 



A–9965 

  

  10

18. A, B, C were partners entitled to 1/2, 1/3 and 1/6 share of 
profit respectively. 

Summary of their balance sheet on 31.12.1998 was as follows. 
Liabilities  Rs. Assets  Rs. 

Sundry creditors  15,000 Goodwill  50,000

Capital : A  70,000 Sundry assets 60,000

B 50,000 Cash  55,000

C 30,000  

 1,65,000  1,65,000

 The following steps were taken on 31st January 1999.  

 (a) C retired and his interest in firm was valued at  
Rs. 40,000 it was purchased by A and B from their 
private resources in their profit sharing proportion.  

 (b) D was admitted and become entitled to 1/6 share of 
profits on the condition that A and B should be 
credited in the profit ratio for goodwill       
amounting Rs. 30,000 he should bring in D capital 
equal to 1/5 of combined capital of A and B for 
adjustment. Prepare partners capital accounts and 
show the opening balance sheet of the reconstituted 
firm as 01.01.1999. 

 A, B. C TmhõÎPÒ 1/2, 1/3 ©ØÖ® 1/6 AßÖ ÂQuzvÀ 

C»õ£zøu £Qº¢x öPõÒQßÓÚº. 31.12.1998 C¸¨¦ 

{ø»U SÔ¨¦ öPõkUP¨£mkÒÍx. 

ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ  ¹. 

PhÜ¢÷uõº 15,000 |ß©v¨¦ 50,000

•uÀ :  A  70,000 £Ø£» ö\õzxUPÒ 60,000

            B 50,000 öμõUP® 55,000

            C 30,000  

 1,65,000  1,65,000
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 RÌUPsh |hÁiUøPPÒ  áÚÁ› 1 , 1999 GkUP¨£mhx. 

 (A) C K´Ä ö£ØÓõº. AÁ¸øh¯ £[S ¹. 40,000 GÚ 

©v¨¤h¨£mk A ²® B ²® A¨£[øP 

AÁºPÐøh¯ »õ£¨ £QºÄ •øÓ°À ö\õ¢u 

{v°¼¸¢x Áõ[P¨£mhx.  

 (B) D, 1/6 C»õ£ £[QØS TmhõÎ¯õP HØÖU 

öPõÒÍ¨£mhx.  A ²® B ²® ¹. 30,000 ©v¨¦ÒÍ 

|ß ©v¨ø£ »õ£ ÂQu¨£i £Qº¢x öPõÒÍ 

HØP¨£mhx. A, B °ß \›Pmh¨£mh ¤ßÝÒÍ 

•u¼ØS 1/5 AÍÂØS D •uÀ öPõsk Áμ 

÷Ásk®. TmhõÎPÒ •uÀ PnUSPøÍ²® ¦v¯ 

Tmhõsø©°ß öuõhUP 01.01.1999 ß C¸¨¦ 

{ø»U SÔ¨ø£²® u¸P. 

19. Ajay, Arun and Ananth share profits in the ratio at  
3 : 2 : 1 on 31.12.2006 their balance sheet was as follows : 

Liabilities  Amount (Rs.) Assets  Amount (Rs.)

Creditors  24,000 Machinery 50,000

General Reserve  6,000 Stock  22,000

Capital : Ajay  40,000 Debtors  19,000

Capital : Arun  30,000 Goodwill  26,000

Capital : Ananth  20,000 Cash  3,000

 1,20,000  1,20,000

 On the above date, the firm was dissolved. The assets 
except cash realised Rs. 1,20,000. The creditors were 
settled at Rs. 23,000. Dissolution expenses amounted to 
Rs. 1,600. Give necessary ledger accounts. 

 Aá´, A¸s ©ØÖ® BÚ¢z Gß£Á›ß £[S C»õ£®  

3 : 2 : 1  GßÓ ÂQuzvÀ ¤›zx AÎUP¨£kQÓx. AÁØÔß 

31.12.2006UPõÚ C¸¨¦ {ø»U SÔ¨¦ ¤ßÁ¸©õÖ : 
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ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõº 24,000 C¯¢vμ® 50,000

ö£õxPõ¨¦ 6,000 \μUS 22,000

•uÀ : Aá´ 40,000 PhÚõÎPÒ 19,000

•uÀ : A¸s 30,000 |Øö£¯º 26,000

•uÀ : BÚ¢z 20,000 öμõUP® 3,000

 1,20,000  1,20,000

 ÷©ØTÔ¯ ÷uv°À C¢u {ÖÁÚ©õÚx |¼ÄØÓx. ö\õzx, 

öμõUPzøuz uÂμ ¹. 1,20,000. PhÜ¢÷uõ¸US 

öPõkUP¨£mhx ¹. 23,000. {Ö©U Pø»¨¦ ö\»Ä ¹. 1,600. 

÷©ØTÔ¯ÁØÔØS ÷£÷μmkU PnUøPz u¯õº ö\´. 

20. A, B and C are partners sharing Profit and Losses in the 
ratios 3: 4: 5. They decided to dissolve the partnership on 
1st July 2006 and agreed that the sale of assets should not 
be forced but should be made gradually. As the 
realization was not likely to be completed for over a year. 
The partners wished the receipts from sales to be dealt 
with as and when received. The following was the 
Balance Sheet of the firm at the date of dissolution : 

Liabilities   Rs. Assets   Rs. 

Creditors  10,000 Sundry assets 36,000

B’s loan account  2,000  

Capital :   

A 12,000  

B 8,000  

C 4,000  

 36,000  36,000
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 The net amount realized from the gradual sale of assets 
were as follows: 

 1st instalment - Rs.  5,000 

 2nd instalment - Rs. 10,000 

 3rd instalment - Rs. 5,100 

 4th instalment - Rs. 6,300 

 5th instalment - Rs. 5,700 

 Draw up a detailed statement, showing the distribution 
of each instalment received. 

 A, B ©ØÖ® C GßÓ TmhõÎPÒ •øÓ÷¯ 3 : 4 : 5 GßÓ 

ÂQuzvÀ »õ£ |mh[PøÍ £Qº¢x öPõÒQßÓÚº. AÁºPÒ 

u[PÒ {ÖÁÚzøu 01.07.2006 AßÖ Pø»UP •iÄ 

ö\´uÚº. BÚõÀ {ÖÁÚzvß ö\õzxUPøÍ EhÚi¯õP 

ÂØ£øÚ ö\´¯ ÷Áshõ® GÚÄ® £i¨£i¯õP ÂØ£x 

GÚÄ® •iÄ ö\´uõºPÒ. ö\õzxUPÒ ÂØ£x J¸ 

Á¸hzvØSÒ •iÁøh¯õöuß£uõÀ G¨ö£õÊöuÀ»õ® 

AøÁPÒ ÂØP¨£kQßÓÚ÷Áõ, A¨ö£õÊx öuõøP 

v¸®£¨ ö£ØÖU öPõÒÁuõPÄ® •iÄ ö\´uÚº.  

 Â¯õ£õμ® Pø»UP¨£k® ö£õÊx Auß C¸¨¦ {ø»U 

SÔ¨¦ ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ  ¹. 

PhÜ¢÷uõº 10,000 £Ø£» ö\õzxUPÒ  36,000

B °ß Phß P/S 2,000  

•uÀ ;   

A 12,000  

B 8,000  

C 4,000  

 36,000  36,000
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 £i¨£i¯õP ö\õzxUPÒ ÂØÓuõÀ Qøhzu öμõUPzvß 

Â£μ® ¤ßÁ¸©õÖ : 

 •uÀ uÁøn  - ¹.  5,000 

 Cμshõ® uÁøn - ¹. 10,000 

 ‰ßÓõ® uÁøn  - ¹. 5,100 

 |õßPõ® uÁøn  - ¹. 6,300 

 I¢uõ® uÁøn  - ¹. 5,700 

 JÆöÁõ¸ uÁøn öμõUPzøu²® ¤›zxU öPõk¨£uØPõÚ 

J¸ AÔUøPø¯z u¯õº ö\´P. 

—————— 
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